PaI_[I/IOHaJIbeIe YPaBHEHHUA U CHCTEMBbI

Pewwnte ypasHeHua:1

1. x3+x2+x=—§,

2. xS +x*+x%2=3,
31,3 3
3, 0y 3y ,
27 3
1 \ 1 , 1 , 1 _
x(x+1) T(x+1)(x+2) T(x+2)(x+3) T(x+3)(x+4) -

5. x'+axy’ +2y* +1=0.

’

CKO/JIbKO AEeNCTBUTENBHBIX KOPHEN MMEET YPaBHEHMUE:
6. x37+x8+1=0,

PewunTb cMCTEMbI YPaBHEHWUI:,

. (x3 +xy* =92 +y7

U x2+y3=2 7

g x2=2y—-1

Tt 4yt =2
x+y+z=

S W2+y2+22=3
x+y?=23

10.{x? +y3 = z*,
X3+ yt =75

x3=2y%—z
11.1y3 = 2z% —x,
z3 =2x%—y

HaliT 3HauYeHuMe BbIpaskeHMA Xy+2yz + 32X , €CAN NONOXKUTE bHbIE YMCNA X, Y, Z
YO0BNETBOPAIOT CUCTEME:

xz+xy+§y2 =25
12. §y2+22=9
z2+zx+x%2 =16



